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1. B THIARBTFEIMELEMAYZ: Which one of the followings does not belong to linear structure: (There is only one
correct answer)

150 :

A. BAFl(queue)

B. 8%%1Z(hash table)

C. [[&(vector)

D. [El(graph)

&% [El(graph)]

2. BREER: LATURFhEEIDRIZIELEN, MSFEFIEEIK: Which of the following structure is a logical structure
regardless of the storage or algorithm: (There is only one correct answer)

prinlii

A. BA%l(queue)

B. XW§&Z(doubly linked list)

C. #1%H(array)

D. llfFFER(Sequential list)

&% [P\Fl(queue)]

3. S RTEIRGFERIAIERAIE . Which one is right about algorithm’s characterization: (there are more than one
correct answers)

Al

A, EiEFRIBTEERAVIEMEM, Algorithm will ensure the correctness of the calculation results.

B. AEEIES T LABIRIAIBERKPR, Instructions which composite algorithms can be infinite or finite

C. EiXMiAT T—EHITAILEEBAMAE, The next step in the implementation of the algorithm described is uncertain.

D. EENESHIEREZVIEBIRLSEBNEER, The finite nature of algorithms means algorithm must be completed
within a limited step.

2% [EXFRIDTEERNERME, Algorithm will ensure the correctness of the calculation results #2LA5IB S HEE
ENRERIREZEHNLES, The finite nature of algorithms means algorithm must be completed within a limited step. ]

4, ik THNGEIEFRAIE : Which options may be correct? (there are more than one correct answers)

i i

A, INREEL()ZEO(gn), gm)RO0(h(n), ABAfN)ZRO(h(N) [ if f(n)is O(gn)), g(n)is O(h(n)), then f(n) is O(h(n))]
B, FNREEf(n)Z20(gn), gm)EO(h(n), BBAL(n)+gmn)RO0(h(n)) [if f(n) is O(g(n)), gn)is O(h(n)), so f(n)+g(n) is
O(h(n))]

C. WI%Rabl, 2, BFR—ER [ifabl,is, may notbe ]

D. BR#EI(n)REO0(gn)), HEHKEBKET, —EBREg(n)R0(af(n)) [if f(n)Z2O0(g(n)), When constant a is big enough
, there must be g(n) is O(af(n))]

2% [WRBH()ZO0(gn), gm)ZO0(h®), BBALfN)ZOhM) [ iff(n)is O(gn)), gn)is O(h(n)), then f(n)is
O(h(n))] #NREAEL(n)EO0(gn)), gm)ZEO(h(n)), BPAf(n)+gm)EO(h(n)) [if f(n) is O(gn)), gn)is O(h(n)), so
f(n)+g(n) is O(h(n))] ]

5. S EE1— M EEAKE A, Ko FEXEIEBIRTEISZYE: An array of a, its length is known as n. Please
answer the time complexity of the following code. (There are more than one answers.) for (i=0,length=1;in-1;i++){ for (j =
i+1;jn a[j-1]=a[j];j++) if(lengthj-i+1) length=j-i+1;}

1IN :
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2% [#]

6. BT HEIEITFERERGmAYE: Calculate the value of m after running the following program segmentn = 9; m
= 0;for (i=1;i=n;i++) for (j = 2*i; j=n; j++) m=m+1;3kmAY{E
2% [20]

7. BZ@: AXE/NSHUTHESRENFY: SREESRS, W (HQ)B)@DG) (B RAETFRIER
FHEBER, LGN ZE D AEHIZHE) Write the following time complexity in descending sequence:Write down the
answer labels such as (1)(2)(3)(4)(5). (Hint: This problem is judged by string matching, Please make sure your answer don't

(1 :|2n

(22>

. 4
(3n(logsn)

(4)5n?

contain any blanks. )

2% [(5HH@E)]
BE KRS

1. 2% FTEXRTZERPORIAST, EFRAYEEFLL? Which of the followings about linear list are correct? (There are
more than one answers.) Select the answer that matches
1EIN :

A, ZRUERRFBIRFEE, YIREBE—RIESEEEEIT, Linear lists use sequential storage which must occupy a
continuous memory units.

B. &EERXRAIRFEFE, EFHITENFIMIPRIRIE. Linear lists using sequential storage, it is easy to do insert and delete
operations.

C. SMRXBEETME, OB —RESRYFMEERTT. Linear lists using the linked storage, do not occupy a

continuous memory units.

D. ZMRXAEEE, EFENAFIMBRIERIE, Linear lists using the linked storage, it is easy for insert and deleting
operations.

2% [RUERXFBINFEE, WiRhBE—RESREEE T, Linear lists use sequential storage which must occupy a
continuous memory units #4E R ANEERE, A GFA—FEEHTEEETT, Linear lists using the linked storage, do
not occupy a continuous memory units ¥R R FANHEFME, ETHENTOMBREIE. Linear lists using the linked storage,
it is easy for insert and deleting operations. )

2. ZiEE: TERIFUASIEFAIRE: Select the answer that matches (There are more than one correct answers)
1EI0
A, HEREEFEN, BEREINTT=NTESiRIEYETSFK. When the linear list stored in linked form, the time to

find the i-th element is regardless of the value of i.

B. ZMREINFFER, EREINITTEINESIRVEIERMIEL. When the linear list stored sequentially, the time to

find the i-th element is proportional to value with i.

C. RMEREINFFER, BB ITEANREISIRIEUETK. When the linear list stored sequentially, the time to find

the i-th element is regardless of the value of 1.

D, ZMRAERFER, BASIN TR ESIRIEERLIELY. When linear lists stored in the linked form, the time to

insert the i-th element is proportional to value with i.

2% [RMREIVFEERN, BEXEINTTENIESiREUET K. When the linear list stored sequentially, the time to



find the i-th element is regardless of the value of i #£MFRIEHENFHERS, BASBINITRAINEISIRVEERLELL. When

linear lists stored in the linked form, the time to insert the i-th element is proportional to value with i. )

3. B STRENBIAERE RpZISHENSBNR{ES: The operation to insert s after the doubly circular linked list’s
node p is: (There are more than one answers.)

EIN :

A, p-next-prev=s; s-prev=p; s-next=p-next; p-next=s;

B. p-next-prev=s; p-next=s; s-prev=p; s-next=p-next;

C. s-prev=p; s-next=p-next; p-next=s; p-next-prev=s;

D. s-next=p-next; p-next-prev=s; s-prev=p; p-next=s;

2% [p-next-prev=s; s-prev=p; s-next=p-next; p-next=s;#s-next=p-next; p-next-prev=s; s-prev=p; p-next=s; )

4, BEE: T —PESEMERINBHER, AENNER pPERBEA— M HERIRESRENO( ). ELEEX
NEREBA— I TERIEEEFRENR0OC )., (IBERORENBNA(2)O0) MRENERZSPENFE, BEANG;
BT RGETFZEFINERAESE, TN REFAEHINZHE) For a single linked list with n nodes, and after a
known node *p to insert a new node, the time complexity is O (__); after a given node with x value insert a new node, the time
complexity is O (__ ). (If your answer contains letters, use lowercase one.The second blank is judged by string matching,
Please make sure your answer don't contain any blanks. )

2% [(Hhn]

5. ETE: REEMERKEon, HREP—T 1, ASREBERNINFSEENT RS E A
p2,p3,....pn, BPABApnnext=_ (BERA—NTRB, FEMEFEBNNEEERFLEETE)
2% [p1]

B=F ST

1. BEER: i%+ES FRAFIQ BUWIIRIRENZS, ToEel, 2, €3, e4, eSHleofOXIBITHES, — T LIREENHIAG
Q, B NTEHINFFIRe2, 4, 3, 6, e5, elNRSHBEZEVNIZE . Assume that the stack S
and queue Q’s initial state is empty, the elements el, €2, e3, e4, e5 and e6 followed through stack S, an element out the stack
means into the queue Q. If the sequence the six elements out of the queue is €2, e4, €3, €6, €5, el then stack S of capacity

should be at least . (There is only one correct answer)
15T
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2. BAERR: MBPERFRIXLE=((100-4)/3+3%(36-7))*2, LAFHINESEFMIGEERFTRIAT? Existing infix expression E
= ((100-4) / 3 + 3 * (36-7)) * 2. Which of the following is the equivalent postfix expression of E? (There is only one correct
answer)

i

A, ((1004-)3/3(367—)*+)2*

B, *+/-10043*3-3672

C. 1004-3/3367—-*+2*%

D. *(+/(-1004)3%3(-367))2

&% [1004-3/3367—*+2%*])

3. Sk BAFIASSFREE: Queue’ features include: (There are more than one answers. )
i i

A, 5 Last-in first-out (LIFO)

B. ot/ First-in last-out (FILO)

C. FetsHFirst-in first-out (FIFO)
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